BK S:t Erik

Trettondagssilver 2016-01-06

Partavling, 36 bord, 71 par.

Antal brickor: 42. Medel: 1428.2. Frirond (*) ger egen procent.

Plac Par Poang %

1 79 18115 63.43
2 65 1811.1 63.41
3 7 1780.8 62.35
4 67 1761.3 61.67
5 30 1742.0 60.99
6 35 17327 60.67
7 29 1713.0 59.98
8 4 1687.5 59.09
9 63 1676.7 58.71
10 27 1627.7 56.99
11 69 1627.2 56.97
12 46  1580.7 55.35
13 76 1573.8 55.11
14 80 1565.9 54.83
15 54 15483 54.21
16 22 1545.0 54.10
17 56 1542.0 53.99
18 48 1537.7 53.84
19 66 1534.7 53.74
20 25 1530.6 53.59
21 2 1525.5 5341
22 31 1520.7 53.25
23 21 1516.0 53.08
24 23 1501.3 5257
25 70 1498.3 52.46
26 5 1493.0 52.27
27 13 1490.0 52.17
28 49  1487.2 52.07
29 15 14827 51.92
30 34 1465.0 51.30
31 11 1465.0 51.29
32 75 1449.0 50.73
33 50 14453 50.61
34 1 14440 50.56
35 53 1432.3 50.15
36 8 1431.5 50.12
37 45 14229 49.82
38 74  1421.0 49.76
39 16 1419.0 49.69
40 58 1412.3 49.45
41 12 1383.7 48.45
42 28 1376.7 48.20
43 62 1372.7 48.06
44 19 1370.3 47.98
45 18 13685 47.92
46 14  1365.0 47.80
47 72 1358.0 47.55
48 59 13575 47.53
49 17 1353.3 47.38
50 60 13504 47.28
51 73 13423 47.00
52 71 1336.4 46.79
53 55 13279 46.49
54 77 1322.0 46.29
55 26 13215 46.27
56 52 1299.7 4551
57 10 1297.0 4541
58 57 1284.0 44.96
59 78 1276.0 44.68
60 6 1268.0 44.40
61 47 12614 44.17
62 32 1202.0 42.09
63 24 11911 4170
64 61 1183.4 41.44
65 20 1166.3 40.84
66 3 1090.1 38.17
67 68 1086.7 38.05
68 33 1066.3 37.34
69 64 1064.0 37.25
70 9 1055.0 36.94
71 51 1054.3 36.91

Namn MID Klubb

Simon Ekenberg - Thomas Magnusson 41685 3693 Overums BK - Arla BK
Lars Malm - Johan Hastad 90738 88525 BK S:tErik

Goran Andersson - Tomas Persson 1857 15331 BKALERT

Johan Wabhlberg - Fredrik Wahlberg 23539 20396 BK S:tErik

Mans Berg - Martin Mellgren 12873 18503 BK S:tErik

Goran Hammarstrom - Mikael Arnberg 11426 24686 BK S:tErik

Mikael Lindblom - Mart Altmée 5094 5914 BK S:tErik

Gunnar Andersson - Peter Gornandt 18507 9039 BKALERT

Lennart Wiklander - Hilding Rune 17072 8743  BK Stjarnskotten

Ragnar Unge - Emanuel Unge 83544 49509 BK Herkules - Arla BK
Bengt Stahre - Peder Skaj 2409 83430 BKALERT

Magnus Deltin - Peter Buer 20343 2248 BK S:tErik

Lillemor Strindberg - Kerstin Strandberg 8806 9216 ArlaBK - BK S:t Erik
Frederic Wrang - David Wrang 8652 87080 BK ALERT - BK S:t Erik
Mi Andrén - Caroline Tesch 90168 80715 BK S:t Erik

Sven-Owe Andersson - Hans Vestergren 8954 33345 BK S:tErik

Gunnar Stockhaus - Bennet Rosengren 2001 8695  Stureby BK - BK S:t Erik
Anders Morath - Peter Backlund 4664 244 BK S:t Erik

Magnus Lindkvist - Ola Weinberg 1831 94278 BK S:tErik

Hugo Nilsson - Britt-Marie Hedrén 9172 9064 Visby BS - BK Tre Sang, Farsta
Patric Ornfjard - Tommy Strindfors 1373 818 BK S:t Erik

Ake Sjoberg - Margareta Sjéberg 9207 24704 BK S:t Erik - Arla BK
Henning Tingvall - Claes Melin 10744 9105 BK S:tErik

Castor Mann - Jonas Mann 58464 88357 BK S:t Erik

Mikael Lundin - Lars-Erik Edlund 17526 52998 BK S:tErik

Jan Selberg - Olle Wademark 11074 14800 Norrorts Bridge

Peter Flodqvist - Peter Térnblom 14778 2265 BK S:tErik

Borje Rudenstal - Andreas Kényves 2336 4590 BK S:t Erik - Valdemarsviks BK
Lars Andersson - Tommy Eneqvist 13156 2243 BK S:t Erik - Tyresd BK
Andrzej Tracewski - Berndt-Ake Timan 49836 49973 Gnesta BK

Simon Bech - Christer Bech 87173 8966 LudvikaBygdens BK - BK S:t Erik
Kjell Simonsson - Joanna Tenggren 82907 39113 Rimbo BK

Lars Manneteg - Tomas Ekholm 2944 81508 Uppsalabridgen - BK S:t Erik
Lennart Eriksson - Ola Brandborn 9020 13092 BK S:t Erik

Leif Akerblom - Christer Koch 28274 85704 Alvik BC - BK S:t Erik
Kerstin Hagglund - Christina Truuberg 82566 93305 BK S:tErik

Patric Holmberg - Ann-Sophie Andersson 17031 39116 Arla BK - Rimbo BK

Tore Stormo - Gudrun Strandberg 78250 4143 ArlaBK

Ola Rimstedt - Erika Rodin 88183 93303 Harplinge BK - BK S:t Erik
Mattias Lindgren - Stefan Ekman 87458 18318 Hedemora BS - BK S:t Erik
Johan Englund - Maria Calissendorff 53131 79968 BK S:t Erik

Niklas Hedin - Bengt Lauthers 42390 32610 BK S:tErik

Lena First-Rozkalns - Margaretha Brodin 87995 88353 BK S:t Erik

Bengt Gustafsson - Hakan Furst 33452 57212 BK S:tErik

Dan Martinson - Karin Martinson 38752 38753 BK S:t Erik

Waldemar Folbrycht - Mona Hellingh 87455 22782 Ystads BS - BK S:t Erik
Arne Persson - Harry Nisell 9187 50711 BK S:tErik

Magnus Arve - Anders d"Aquino 40423 21174 BK S:tErik

Ola Stavas - Peter Carlsson 1134 11594 BK S:tErik

Lennart Karlberg - Jan-Olof Hegethorn 2185 12033 BK S:tErik

Jan Ternstedt - Richard Shanwell 589 51489 BK S:t Erik

John Strandberg - Anita Kropp 949 55699 Torshélla BK

Goran Lind - Kerstin Hallgren 14248 6059 BK S:t Erik - Enkdpings BS
Bengt Wiberg - Sofia Ryman 80131 78200 Arla BK - BK S:t Erik

Elsy Bergstedt - Florence Bodin 16858 83452 BK TvaEss

Micke Almgren - Eddie Persson 11390 7345 ArlaBK - BK S:t Erik
Jan-Ove Hed - Ann-Christine Brask 48412 82567 SEB Bridge - BK S:t Erik
Erik Tornvall - Agneta Aicardi-Holmstrom 52901 50831 Vastra Bjare BK

Barbro Bratt - Ake Bratt 27051 27052 Tyreso BK

Endre Sas - Jan Bergstrém 2434 79747 IK MAKKABI - BK S:t Erik
Per Clarin - Peder Olrog 10538 9180 BK S:tErik

Per-Olof Rehn - Ingrid Linnarsson 83502 23525 BK S:tErik

Lars-Erik Rudstréom - Jan Larsson 10725 5220 BK S:tErik

Eva Klingspor - Nils Ahlén 26851 3946 BK S:t Erik

Ola Hellblom - Niklas Hanson 29988 53164 BK S:tErik

Jan Akervall - Madeleine Akervall 39086 39087 BK S:t Erik

Barbara Lane - John Dryden 52559 52970 BK S:tErik

Sven Martensson - Ewa Eriksson 41916 80479 BK S:tErik

Walter Keg6 - Ingvar Wistrom 55397 55396 BK S:t Erik

Hans Hultqvist - Jan Korpe 2199 5204 BK S:tErik

Ann-Britt Carlén - Yvonne Flodqvist 88227 14805 BK S:tErik
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1 +E 2 105 3 #1082
Nord v Kn753 Ost v 98765 Syd v EKDKn5
Ingen ¢ EK7 NS + K62 ov +10
#EK1085 #D86 #E975
4 KD1098 #4Kn7642 494 & EKKn2 4« Kn97 & K653
v K2 v D6 vE2 vKn3 v6 v 109873
+ 8542 + Kn93 ¢ EKn94 ¢ D53 ¢ DKn7642 ¢ 98
*92 *764 #E10542 #KKn93 #DKn4 #102
453 4« D8763 « ED4
v E10984 v KD104 v42
+ D106 + 1087 ¢ EK53
#DKn3 &7 K863
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
5 76 6v S= &K 980 55.0 13.0(34 47 6NV -4 v8 200 68.0 0.0|15 66 6NS= *4 990 66.0 2.0
15 66 6y S= oK 980 55.0 13.0(28 53 3NO-3 vK 150 64.0 4.0|34 47 6NS= +4 990 66.0 2.0
28 53 6y S= &K 980 55.0 13.0|65 16 3NO-3 vK 150 64.0 4.0|62 19 6NS= +6 990 66.0 2.0
31 50 6Y N= a7 980 55.0 13.0{80 1 4NO-3 vK 150 640 40| 5 76 64 N= +9 920 56.0 12.0
34 47 6vy N= a2 980 55.0 13.0(23 58 3NO-2 vK 100 56.0 12.0|35 46 6# S= v5 920 56.0 12.0
35 46 6y N= a2 980 55.0 13.0|27 54 3NO-2 vK 100 56.0 12.0|48 33 6# N= vT 920 56.0 12.0
52 29 6y S= &K 980 55.0 13.0|35 46 3NO-2 vQ 100 56.0 12.0|49 32 6# S= 45 920 56.0 12.0
60 21 6v S= oK 980 55.0 13.0|56 25 3N O-2 vK 100 56.0 12.0|56 25 6# S = +Q 920 56.0 12.0
63 18 6v S= &K 980 55.0 183.0|75 6 3NV-2 v7 100 56.0 12.0|69 12 64 N= v3 920 56.0 12.0
65 16 6v S= &K 980 55.0 13.0| 2 79 3NO-1 vK 50 43.0 250(80 1 64 N-= +9 920 56.0 12.0
68 13 6v S= oK 980 55.0 13.0(31 50 3NO-1 vQ 50 43.0 25.0(63 18 3NS+3 ¢4 490 45.0 23.0
69 12 6y S= &K 980 55.0 13.0|48 33 3NO-1 vK 50 43.0 250(73 8 3NS+3 46 490 45.0 23.0
74 7 6v S= &K 980 55.0 13.0|49 32 3NO-1 vK 50 43.0 25.0(74 7 3NS+3 ¢4 490 45.0 23.0
75 6 6v S= oK 980 55.0 13.0(62 19 5#0-1 v¥K 50 43.0 25.0(75 6 3NS+3 ¢4 490 45.0 23.0
51 30 44DV-4 +A 800 40.0 28.0|164 17 3NO-1 vQ 50 43.0 25.0( 2 79 3NS+2 #Q 460 32.0 36.0
2 79 4v S+2 #K 480 19.0 49.0(67 14 INO-1 vQ 50 43.0 25.0| 4 77 3NS+2 a7 460 32.0 36.0
3 78 4v S+2 4K 480 19.0 49.0|73 8 540-1 ¢K 50 43.0 25.0( 9 72 3NS+2 #Q 460 32.0 36.0
4 77 59 N+1 &5 480 19.0 490 3 78 3NV = *2 -400 24.0 44.0(24 57 3NS+2 +Q 460 32.0 36.0
9 72 4v S+2 &K 480 19.0 49.0( 4 77 3NO= vK -400 24.0 44.0(27 54 3NS+2 +Q 460 32.0 36.0
11 70 49y S+2 42 480 19.0 49.0| 9 72 3NO= vK -400 24.0 44.0(59 22 3NS+2 +Q 460 32.0 36.0
23 58 4v S+2 &K 480 19.0 49.0(11 70 3NO= 43 -400 24.0 44.0(60 21 3NS+2 v6 460 32.0 36.0
24 57 4y S+2 &K 480 19.0 49.0(15 66 3NO= vK -400 24.0 440(65 16 3INS+2 +Q 460 32.0 36.0
27 54 4y N+2 ¢2 480 19.0 49.0|24 57 3NO= vK -400 24.0 44.0(67 14 3NS+2 46 460 32.0 36.0
48 33 5v S+1 4K 480 19.0 49.0(52 29 3NO= 43 -400 24.0 44.0(31 50 4vy N+1 9 450 22.0 46.0
49 32 4v S+2 4K 480 19.0 49.0(59 22 3NO= vK -400 24.0 440(| 3 78 3NS+1 +2 430 19.0 49.0
55 26 5v S+1 &K 480 19.0 49.0|63 18 3NO= vK -400 24.0 44.0(64 17 3NS+1 &7 430 19.0 49.0
56 25 5v S+1 &K 480 19.0 49.0(69 12 3NO= vK -400 24.0 44.0(28 53 4y N= +9 420 14.0 54.0
59 22 4y S+2 &7 480 19.0 49.0|74 7 3NO= vK -400 24.0 44.0(52 29 4v S= +Q 420 14.0 54.0
61 20 4v S+2 &K 480 19.0 49.0| 5 76 5 V+1l 4] -420 12.0 56.0(55 26 5#S+1 v6 420 14.0 54.0
62 19 4v S+2 &K 480 19.0 49.0(51 30 3NO+1 ¥¢K -430 8.0 60.0|/61 20 3NS= *2 400 10.0 58.0
64 17 4y S+2 &K 480 19.0 49.0(55 26 3BNO+1 +¢8 -430 8.0 60.0[11 70 6v N-1 +9 -50 7.0 61.0
67 14 4v S+2 &K 480 19.0 49.0|60 21 3NO+1 &7 -430 8.0 60.0(68 13 5v S-1 *Q -50 7.0 61.0
71 10 5v S+1 &K 480 19.0 49.0({61 20 BNO+2 46 -460 2.0 66.0(23 58 6v S-2 *Q -100 3.0 65.0
73 8 5v S+1 &) 480 19.0 49.0(68 13 3NO+2 43 -460 20 66.0(71 10 6v S-2 +Q -100 3.0 65.0
80 1 4v S+2 &K 480 19.0 49.0|71 10 3NO+2 43 -460 20 66.0(51 30 6vyDS-2 +Q -300 0.0 68.0
45 - 33.9 45 - 33.9 45 - 33.9
4 « Kn963 5 « Kn3 6 10875
Vast vE3 Nord v E109864 Ost v E876
Alla ¢ 764 NS + 10 ov + 106
#DKn62 D984 #543
« 107 & KD852 4 K8 4 E954 ~KD62 #4Kn4
vKD965 v102 vD v KKn32 v1052 D3
¢ KDKn 410852 4 DKn984 ¢ 7652 + D974 ¢ KKn852
&»EK4 293 #107653 &2 #Knl0 #9872
«E4 4 D10762 4 E93
v Kn874 v75 v KKn94
¢ E93 + EK3 ¢ E3
£10875 &EKKn #EKD6
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
80 2 3NV-3 *6 300 68.0 0.0|25 58 5¢DO-4 +A 800 68.0 00| 5 77 4v S+1 v2 450 59.0 9.0
46 45 2NV -2 *2 200 64.0 40| 4 78 4v S= vQ 620 55.0 13.0|10 73 4v S+1 &J 450 59.0 9.0
50 33 2N O -2 *7 200 640 40| 5 77 4vy N= *2 620 55.0 13.0|12 71 4v S+1 v2 450 59.0 9.0
57 26 3NV-2 *2 200 64.0 4.0|29 54 4v S= vQ 620 55.0 13.0|46 45 4v S+1 &J 450 59.0 9.0
379 3NV-1 *6 100 49.0 19.0 (46 45 4y N= *2 620 55.0 13.0|50 33 5v N= *2 450 59.0 9.0
12 71 2NV -1 *Q 100 49.0 19.0(50 33 4v N= #3 620 55.0 13.0|65 18 4v N+1 & 450 59.0 9.0
25 58 44 O-1 &7 100 49.0 19.0(57 26 4v S= *4 620 55.0 13.0|69 14 4v N+1 & 450 59.0 9.0
28 55 3NV-1 *6 100 49.0 19.0 (60 23 4v N= *2 620 55.0 13.0|70 13 4v S+1 v2 450 59.0 9.0
49 34 INV-1 *Q 100 49.0 19.0(63 20 4y N= *2 620 55.0 13.0|74 9 4v S+1 &J 450 59.0 9.0
53 30 2N V-1 43 100 49.0 19.0(65 18 4v S= +Q 620 55.0 13.0|75 8 4v S+1 v2 450 59.0 9.0
60 23 3NV-1 *Q 100 49.0 19.0(69 14 4v S= &T 620 55.0 13.0|32 51 3NS+1 ¢7 430 48.0 20.0
63 20 3NV-1 *7 100 49.0 19.0(74 9 4y N= *2 620 55.0 130| 1 7 4v S= *9 420 33.0 35.0
65 18 2NV -1 *6 100 49.0 19.0|80 2 4v S= +Q 620 55.0 13.0| 4 78 4y N= +5 420 33.0 35.0
66 17 3NV-1 *4 100 49.0 19.0|24 59 5¢DO-3 v7 500 42.0 26.0(16 67 4v S= v2 420 33.0 35.0
68 15 2NV -1 46 100 49.0 19.0(70 13 5¢DO-2 v¥5 300 40.0 28.0(24 59 4v S= *7 420 33.0 35.0
74 9 2NV-1 *4 100 49.0 19.0(52 31 3v N+2 &2 200 38.0 30.0|25 58 4y N= aJ 420 33.0 35.0
4 78 INV= *Q 90 34.0 340| 1 7 3vS= +Q 140 34.0 34.0|35 48 4v S= *] 420 33.0 35.0
29 54 INV= *6 -90 34.0 34.0|56 27 3v N= *2 140 34.0 34.0|53 30 4v N= aJ 420 33.0 35.0
62 21 INV= 43 90 34.0 34.0|66 17 3v S= +Q 140 34.0 34.0|56 27 4y N= &7 420 33.0 35.0
577 1lvyV+1 #Q -110 27.0 41.0|12 71 INN= *7 90 30.0 38.0|57 26 4v N= *9 420 33.0 35.0
10 73 24 V= *Q -110 27.0 410| 6 76 5v N-1 s A -100 23.0 45.0(60 23 4v S= *7 420 33.0 35.0
64 19 24 V= 43 -110 27.0 41.0|10 73 4v N-1 s A -100 23.0 45.0(61 22 4v S= v2 420 33.0 35.0
75 8 24 V= *Q -110 27.0 41.0|35 48 4v S-1 +Q -100 23.0 45.0(63 20 4v N= *9 420 33.0 35.0
69 14 INV+1l 46 -120 22.0 46.0|49 34 3NS-1 +Q -100 23.0 45.0(66 17 4v S= *J 420 33.0 35.0
16 67 2vy V+1 ¢4 -140 16.0 52.0|53 30 4y N-1 *2 -100 23.0 45.0(80 2 4v S= *4 420 33.0 35.0
35 48 2y V+1 ¢4 -140 16.0 52.0|61 22 3NS-1 *+Q -100 23.0 45.0| 3 79 3NS= v2 400 14.0 54.0
52 31 2y V+1 ¢7 -140 16.0 52.0|28 55 3N N-2 *2 -200 12.0 56.0| 6 76 3NS= *J 400 14.0 54.0
56 27 2y V+1 o7 -140 16.0 52.0|32 51 4v S-2 +Q -200 12.0 56.0|62 21 3NS= *J 400 14.0 54.0
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70 13 1v V+2 7 -140 16.0 52.0|62 21 3NS-2 +Q -200 12.0 56.0(64 19 3NS= ¢+4 400 14.0 54.0
61 22 2NV +1 46 -150 9.0 59.0(64 19 4v N-2 &2 -200 12.0 56.0(72 11 3NS= *7 400 14.0 54.0
72 11 2NV +1 &2 -150 9.0 59.0|72 11 4vDN-1 &3 -200 12.0 56.0(49 34 2NS+3 42 210 8.0 60.0
1 7 3vV+l ©vA -170 3.0 65.0| 3 79 3NS-3 +Q -300 3.0 65.0(28 55 2NS+1 +4 150 5.0 63.0
6 76 2v V+2 YA -170 3.0 65.0|16 67 3NS-3 +J -300 3.0 65.0(52 31 2NS+1 7 150 5.0 63.0
24 59 3v V+1 ¢4 -170 3.0 65.0|68 15 3NS-3 +Q -300 3.0 65.0(68 15 4v S-1 & -50 2.0 66.0
32 51 1v V+3 46 -170 3.0 65.0|75 8 3NS-3 +Q -300 3.0 65.0(29 54 3NS-2 +6 -100 0.0 68.0
- 47 30.0| - 47 30.0| - 47 30.0
7 « EKD9 8 «ED 9 « D64
Syd vD5 Vast vED875 Nord v 94
Alla + EKD5 Ingen ¢+ EK ov + KKn95
#K85 £10964 #7542
4752 4 Kn643 49754 4 K1062 4K9853 & E
vE1042 vK63 vKn32 v94 vE7 v KDKn1086
+Knl1032 +64 4 Kn108 ¢ D43 ¢ 72 443
2103 #E972 *E32 »KD87 #ED103 #Kn986
4108 4 Kn83 4 Kn1072
v Kn987 v K106 v 532
4987 497652 + ED1086
#DKn64 #Kn5 *K
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
17 68 3NN +2 &7 660 65.0 3.0(25 60 34DO-3 v¥6 500 68.0 00(11 74 44 V-1 +9 100 68.0 0.0
65 20 BNN+2 &2 660 65.0 3.0(54 31 4y N+1 #Q 450 66.0 20(61 24 34 V= v9 -140 659 2.1
71 14 3NN+2 43 660 650 30| 1 9 4vyN= v7 420 52.0 16.0({80 3 2v O+3 #K -200 639 4.1
75 10 BNN+2 «4 660 650 30| 2 8 4y N= v4 420 52.0 16.0(62 23 2v O+4 4] -230 59.7 83
6 77 3NN+1 ¢3 630 55.0 13.0| 6 77 4v N= v9 420 52.0 16.0(65 20 2v O+4 &K -230 59.7 83
13 72 3NN+1 &2 630 55.0 13.0| 7 76 4y N= *K 420 52.0 16.0|66 19 3v O+3 &K -230 59.7 83
30 55 BNN+1 6 630 55.0 13.0|30 55 4y N= v3 420 52.0 16.0(25 60 5¢DS-2 YA -300 55.6 124
57 28 3NN+1 &7 630 55.0 13.0(61 24 4v N= 46 420 52.0 160 2 8 4v V+1 +A -650 50.5 17.5
67 18 BNN+1 ¢33 630 55.0 13.0|63 22 4y N= *K 420 52.0 16.0( 4 79 4v O+1 +A -650 50.5 17.5
80 3 3NN+1 &2 630 55.0 13.0(65 20 4v N= a2 420 52.0 16.0(26 59 4v O+1 +6 -650 50.5 17.5
2 8 3NN= 43 600 33.0 35.0(69 16 4v N= 46 420 52.0 16.0|67 18 4v O+1 +A -650 50.5 17.5
4 79 3NN= a4 600 33.0 35.0|70 15 4y N= 46 420 520 160 1 9 4vV+2 v5 -680 33.0 35.0
5 78 3NN= *2 600 33.0 35.0|71 14 4y N= v4 420 52.0 16.0( 5 78 4v O+2 43 -680 33.0 35.0
26 59 3NN= +6 600 33.0 35.0|75 10 4y N= v4 420 52.0 160 6 77 4v O+2 4 -680 33.0 35.0
29 56 3NN= +6 600 33.0 35.0{80 3 4y N= 8 420 52.0 16.0(13 72 4v O+2 & -680 33.0 35.0
45 48 3NN= *2 600 33.0 35.0{29 56 INN+3 &2 180 37.0 31.0(29 56 4y O+2 &7 -680 33.0 35.0
53 32 3NN= 43 600 33.0 35.0(45 48 INN+3 «4 180 37.0 31.0(30 55 4v O+2 ¢33 -680 33.0 35.0
54 31 3NN= 46 600 330 350| 5 78 3y N+1 &K 170 27.0 410(51 34 4v O+2 & -680 33.0 35.0
58 27 3NN= +6 600 330 350(11 74 1v N+3 &K 170 27.0 410(53 32 4v O+2 4 -680 33.0 35.0
61 24 3NN= a4 600 33.0 35.0(13 72 1v N+3 &K 170 27.0 410(63 22 4v O+2 4 -680 33.0 35.0
62 23 3NN= v3 600 33.0 35.0(17 68 1v N+3 &K 170 27.0 410(64 21 4v O+2 #K -680 33.0 35.0
64 21 3NN= a4 600 33.0 35.0({51 34 1vy N+3 a2 170 27.0 410(69 16 4v O+2 «K -680 33.0 35.0
66 19 3NN= *2 600 33.0 35.0(53 32 1vy N+3 &K 170 27.0 410(71 14 4v O+2 ¥5 -680 33.0 35.0
69 16 3NN= a4 600 33.0 35.0|57 28 1v N+3 &K 170 27.0 410(75 10 4v O+2 v2 -680 33.0 35.0
70 15 3NN= a4 600 33.0 35.0(58 27 1v N+3 &K 170 27.0 410(17 68 4v O+3 v2 -710 9.3 58.7
73 12 3NN= v3 600 33.0 350 4 79 3vy N= v2 140 14.0 54.0|33 52 4v O+3 4] -710 9.3 58.7
51 34 2NN +1 &2 150 16.0 52.0(26 59 2v N+1 &K 140 14.0 54.0|45 48 5v O+2 #K -710 9.3 58.7
1 9 3NN-1 »7 -100 7.0 61.0|50 35 2v N+1 +v3 140 14.0 54.0|47 46 4vy O+3 v2 -710 9.3 58.7
7 76 3NN-1 *7 -100 7.0 61.0(62 23 1v N+2 ¥9 140 14.0 54.0|50 35 4vy O+3 v2 -710 9.3 58.7
11 74 3NN-1 +6 -100 7.0 61.0|66 19 1v N+2 &K 140 14.0 54.0|54 31 49y O+3 & -710 9.3 58.7
25 60 3NN-1 *2 -100 7.0 61.0|67 18 2¢ N+2 v9 130 8.0 60.0|57 28 4v O+3 v2 -710 9.3 58.7
33 52 3NN-1 *4 -100 7.0 61.0(73 12 INN+1 ¥9 120 6.0 62.0|58 27 4v O+3 &K -710 9.3 58.7
47 46 3NN-1 *6 -100 7.0 61.0|33 52 4v N-1 #4 -50 3.0 65.0|70 15 4v O+3 v¥5 -710 9.3 58.7
50 35 3NN-1 *2 -100 7.0 61.0|47 46 4v N-1  v9 -50 3.0 65.0|73 12 4v O+3 v2 -710 9.3 58.7
63 22 3NN-1 +6 -100 7.0 61.0|64 21 la V= ¢A -80 0.0 68.0| 7 76 4v S+1 ¢A 450>a 40.8 40.8
- 49 354 | - 49 354 | - 49 354
10 #1098 11 « 1084 12 4 K83
Ost v D6 Syd v 3843 Vast v K64
Alla ¢ D43 Ingen + KKn873 NS ¢ ED852
#EKKn94 #Kn3 &73
4 KKn764 43 4 K73 4 ED2 41052 sE74
v4 v K107532 vK10962 vED75 vKn9873 v 105
¢ E2 + Kn97 ¢+ D92 + 10654 +6 + Knl074
#D10732 #3865 «KD *E4 #Kn1095 #KD64
4 ED52 4 Kn965 4« DKn96
v EKn98 vKn vED2
+ K10865 ¢E ¢ K93
»- #10987652 &E82
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 10 44DO-6 5 1700 67.0 10|26 61 5v V-1 v3 50 68.0 0055 32 3NS+3 v7 690 68.0 0.0
30 57 2¢DV-6 ¢3 1700 670 10| 3 9 4v V= +8 -420 56.0 12.0| 2 10 3NN+2 T 660 59.0 9.0
579 2¢vDO-5 ¢5 1400 640 40| 579 4v V= +3 -420 56.0 12.0(18 69 3NN+2 «T 660 59.0 9.0
48 47 24DV -4 2 1100 620 6.0|12 75 4v V= & -420 56.0 12.0(27 60 3NS+2 v7 660 59.0 9.0
54 33 3NS+3 v4 690 60.0 8.0(30 57 4v V= %] -420 56.0 12.0(30 57 3NN+2 3 660 59.0 9.0
46 49 3NN+2 45 660 56.0 12.0|45 50 4v V= +3 -420 56.0 12.0(34 53 3NS+2 7 660 59.0 9.0
67 20 NS +2 &2 660 56.0 12.0(46 49 4v V= 2 -420 56.0 12.0(45 50 3NN+2 +v4 660 59.0 9.0
70 17 3NN+2 &5 660 56.0 12.0|55 32 4v V= v4 -420 56.0 12.0(63 24 3NN+2 T 660 59.0 9.0
6 78 3NS+1 44 630 43.0 25.0|66 21 4y V= a4 -420 56.0 12.0(67 20 3NS+2 3 660 59.0 9.0
7 77 3NS+1 &2 630 43.0 25.0|68 19 4y V= & -420 56.0 12.0(71 16 44 S+1 +¢6 650 50.0 18.0
12 75 3NS+1 v4 630 43.0 25.0|72 15 4v V= +3 -420 56.0 120 1 11 3NS+1 3 630 39.0 29.0
27 60 3NS+1 a7 630 43.0 25.0|74 13 4vy V= *] -420 56.0 120 5 79 3NN+1 «T 630 39.0 29.0
31 56 3NS+1 v4 630 43.0 25.0| 1 11 3NO+1 #8 -430 44.0 240( 7 77 3NS+1 +8 630 39.0 29.0
52 35 3BNN+1 &5 630 430 25.0| 2 10 5v V= %] -450 23.0 450 8 76 3NN+1 «4 630 39.0 29.0
59 28 3NS+1 &2 630 43.0 25.0| 6 78 4y V+1 &J -450 23.0 45.0(12 75 3NN+1 44 630 39.0 29.0
63 24 3NS+1 &2 630 43.0 25.0| 7 77 4v V+1 ¥3 -450 23.0 45.0(26 61 3NS+1 6 630 39.0 29.0
65 22 3NS+1 v4 630 43.0 25.0| 8 76 4v V+1 ¥3 -450 23.0 45.0(58 29 3NS+1 3 630 39.0 29.0
66 21 3NS+1 &2 630 430 25.0|14 73 4v V+1 v2 -450 23.0 45.0(66 21 3NS+1 3 630 39.0 29.0
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18 69 3NS= *2 600 310 37018 69 4v V+1 3 -450 23.0 45.0(68 19 3NN+1 «T 630 39.0 29.0
64 23 3NS= a4 600 31.0 37.0|27 60 4y V+1 #J -450 23.0 45.0(72 15 3NN+1 ¢J 630 39.0 29.0
26 61 34 V-5 *K 500 26.0 42.0|31 56 4v V+1 &J -450 23.0 450 3 9 3NN= *K 600 16.0 52.0
55 32 3#V-5 +Q 500 26.0 42.0|34 53 5v V= *] -450 23.0 45.0(14 73 3NN= 43 600 16.0 52.0
62 25 4vy O-5 +¢6 500 26.0 42.0(48 47 4v V+1 3 -450 23.0 45.0(31 56 3NS= *] 600 16.0 52.0
1 11 2NN+3 v3 210 220 46.0|52 35 4v V+1 3 -450 23.0 45.0(46 49 3NN= *K 600 16.0 52.0
72 15 3¢ S+1 v4 130 19.0 49.0 (54 33 4v V+1 &) -450 23.0 45.0(48 47 3NN= *6 600 16.0 52.0
74 13 2¢ S+2 v4 130 19.0 49.0(59 28 4v V+1 &J -450 23.0 45.0(52 35 3NN= *Q 600 16.0 52.0
71 16 3¢ S= v4 110 16.0 52.0(62 25 4v V+1 &T -450 23.0 45.0(59 28 3NN= *6 600 16.0 52.0
45 50 2# N= 43 90 14.0 54.0(63 24 5v V= *] -450 23.0 45.0(62 25 3NS= *] 600 16.0 52.0
3 9 3NN-1 v2 -100 9.0 59.0|65 22 4v V+1 3 -450 23.0 45.0(64 23 3NS= *] 600 16.0 52.0
8 76 3NS-1 *2 -100 9.0 59.0|67 20 5v O= LN -450 23.0 45.0(65 22 3NN= &K 600 16.0 52.0
34 53 3NS-1 3 -100 9.0 59.0|70 17 4y V+1 &J -450 23.0 45.0(70 17 3NN= *K 600 16.0 52.0
80 4 64 S-1 ¢ A -100 9.0 59.0|71 16 4v V+1 #4 -450 23.0 45.0(74 13 3NN= *K 600 16.0 52.0
14 73 5¢ S-2 v2 -200 30 65.0(80 4 4vV+1 3 -450 23.0 45.0(80 4 3NN= *K 600 16.0 52.0
58 29 64 S-2 *2 -200 3.0 65.0(58 29 44DS-3 &K -500 2.0 66.0|54 33 2¢ N+3 vT 150 2.0 66.0
68 19 44 N-3 43 -300 0.0 68.0(64 23 54DS-4 v2 -800 0.0 68.0( 6 78 3NN-2 *6 -200 0.0 68.0
51 - 25.1 51 - 25.1 51 - 25.1
13 « Kn9743 14 &K 15 +E
Nord v 942 Ost v52 Syd v EKn10
Alla + 109 Ingen ¢+ EKn954 NS ¢ EKn1073
#1095 #DKn753 #9874
4« E6 « KD1052 4 Kn108 4 D975432 « KKn1062 & D8543
v5 v EK3 vKDKn109 v43 v 96 v K54
¢ EKn2 + K53 + K832 +10 4985 + KD6
#EDKnN8732 #64 *8 #964 »EK6 #53
8 «E6 497
v DKn10876 vE876 vD8732
+ D8764 + D76 42
&K &EK102 #DKn102
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
65 24 44V +3 v2 -190 68.0 00|66 23 7#S= vK 1440 68.0 00| 2 12 44 O-1 ¢4 50 63.0 5.0
27 62 5V +2 w2 -640 66.0 20| 2 12 6#N+1 44 940 640 40| 7 78 4e V-1 *9 50 63.0 5.0
7 78 44 O+2 vQ -680 63.0 5.0(52 45 64 N+1 #4 940 640 4.0(46 51 44 O-1 5 50 63.0 5.0
69 20 44 O+2 vQ -680 63.0 50|63 26 64 N+1 #4 940 64.0 4.0[(49 48 4a4 V-1 *A 50 63.0 5.0
3 11 3NO+4 +vQ -720 55.0 13.0|56 33 6# S= vK 920 58.0 10.0 |56 33 34 V-1 *9 50 63.0 5.0
28 61 3NO+4 vQ -720 55.0 13.0|72 17 64 S= vK 920 58.0 10.0 |65 24 4a V-1 *A 50 63.0 5.0
32 57 3NO+4 8 -720 55.0 13.0|73 16 6 S= 4] 920 58.0 10.0|27 62 3& V= *7 -140 55.0 13.0
63 26 3ANO+4 vQ -720 55.0 13.0|15 74 64D O -4 &A 800 540 14064 25 34 O= *T -140 55.0 13.0
64 25 3NO+4 vQ -720 55.0 13.0|13 1 3NS+4 K 520 510 17.0| 3 11 34 V+1 &3 -170  47.0 21.0
71 18 3NO+4 T -720 55.0 13.0|35 54 3NS+4 vK 520 510 17.0| 4 10 34 V+1 #9 -170  47.0 21.0
2 12 64V+1l v2 -1390 35.0 33.0|28 61 54D O-3 #A 500 48.0 20.0| 8 77 34 V+1 49 -170 47.0 21.0
4 10 6+ V+1l v9 -1390 35.0 33.0| 7 78 3NS+3 ¥K 490 37.0 31.0(31 58 34 V+1 48 -170  47.0 21.0
8 77 64 V+l 2 -1390 35.0 33.0| 8 77 3NS+3 vK 490 37.0 31.0{69 20 34 V+1 %9 -170  47.0 21.0
9 76 6#40+1 v2 -1390 35.0 33.0|27 62 3NS+3 T 490 37.0 31.0|72 17 34 O+1 #Q -170 47.0 21.0
19 70 64 V+1 T -1390 35.0 33.0|46 51 3NS+3 vK 490 370 31.0| 9 76 44 V= s A -420 24.0 44.0
31 58 6&#V+1l T -1390 35.0 33.0|47 50 3NS+3 ¥K 490 370 31.0|13 1 4ae V= *9 -420 24.0 44.0
46 51 64V +1 49 -1390 35.0 33.0|49 48 3NS+3 vK 490 37.0 31.0|15 74 4e V= *9 -420 24.0 44.0
47 50 64 V+1 T -1390 35.0 33.0|65 24 3NS+3 vK 490 37.0 31.0|19 70 4a4 V= *9 -420 24.0 44.0
49 48 64 O+1 48 -1390 35.0 33.0|67 22 3NS+3 vK 490 37.0 31.0|28 61 44 V= *9 -420 24.0 44.0
59 30 6&#V+1 &T -1390 35.0 33.0|71 18 3NS+3 vK 490 37.0 31.0|32 57 44 V= *9 -420 24.0 44.0
66 23 64V +l v2 -1390 35.0 33.0|/80 5 3NS+3 ¢¥K 490 37.0 31.0|55 34 44 V= *9 -420 24.0 44.0
68 21 64V +1l T -1390 35.0 33.0|19 70 3NS+2 vK 460 22.0 46.0|59 30 44 V= *7 -420 24.0 44.0
72 17 64V +1 v2 -1390 35.0 33.0|32 57 3NS+2 vK 460 22.0 46.0|60 29 4a V= *7 -420 24.0 44.0
73 16 640 +1 vQ -1390 35.0 33.0|/60 29 3NS+2 ¥K 460 22.0 46.0|63 26 4a V= *9 -420 24.0 44.0
75 14 64 O= vQ -1430 20.0 48.0|68 21 3NS+2 vK 460 22.0 46.0|66 23 44 O= *Q -420 24.0 44.0
6 79 6NO+1 vQ -1470 9.0 59.0|75 14 3NS+2 vK 460 22.0 46.0|67 22 44 O = s A -420 24.0 440
13 1 6NO+1 +vQ -1470 9.0 59.0| 4 10 5#S+2 vK 440 140 54.0(68 21 44 V= *7 -420 24.0 44.0
15 74 6NO+1 vQ -1470 9.0 59.0| 6 79 5& N+2 T 440 14.0 54.0 (71 18 44 V= *9 -420 24.0 44.0
35 54 6NO+1 vQ -1470 9.0 59.0|31 58 5 N+2 T 440 140 54.0|73 16 44 V= *7 -420 24.0 44.0
52 45 6NO+1 vQ -1470 9.0 59.0|55 34 5#S+1 vK 420 10.0 58.0 (75 14 44 V= *9 -420 24.0 44.0
55 34 6NO+1 vQ -1470 9.0 59.0|59 30 3NS= vK 400 7.0 61.0|80 5 44 V= *9 -420 24.0 44.0
56 33 6NO+1 vQ -1470 9.0 59.0|164 25 3NS= vK 400 7.0 61.0|35 54 4vyDS-2 #A -500 6.0 62.0
60 29 6NO+1 vQ -1470 9.0 59.0| 9 76 44D O-2 #A 300 3.0 65.0|47 50 44DV = 49 -590 3.0 65.0
67 22 6NV+1l vQ -1470 9.0 59.0|69 20 44D O-2 #A 300 3.0 65.0(52 45 44D O = &A -590 3.0 65.0
80 5 6NV+1 vQ -1470 9.0 59.0|] 3 11 3NS-1 vK -50 0.0 68.0| 6 79 5¢vDS-3 #A -800 0.0 68.0
53 - 34.1 53 - 34.1 53 - 34.1
+ K96 #« EK853 « Kn73
vD v Kn6 v D7
¢ KKn98 ¢ EKn2 ¢ EKn653
#KKn1094 #1064 &E98
4 E1087 4 DKn53 4642 4D « ED954 410
vK1086 v54 vKD73 vE1042 vE986542 v Knl03
¢ ED43 ¢ 1076 ¢ 74 + K9863 *7 ¢+ KD10
*6 *E875 &#DKn73 &EK2 »- #DKn10762
442 « Kn1097 # K862
v EKn9732 v 985 vK
¢ 52 + D105 49842
#D32 #985 #K543
Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang
20 71 4vyDV-4 #J 1100 68.0 0.0|64 27 24 N-1 *A -50 68.0 0.0|14 2 6vyDV-1 +A 100 68.0 0.0
4 12 44DN= 4Q 510 66.0 20|33 58 3¢ O= s -110 66.0 2.0(74 17 2v V+3 +A -200 66.0 2.0
53 46 3#DN= &5 470 640 40|16 75 44 O= L) -130 62.0 6.0(67 24 4v V= *A -420 64.0 4.0
80 6 34 0-3 &2 300 62.0 6.0{60 31 3¢ O+1 & -130 620 6.0 4 12 4v V+1 43 -450 39.0 29.0
67 24 34 O-2 &2 200 60.0 80|65 26 34 O+1 &A -130 620 6.0 7 79 4v V+1l +A -450 39.0 29.0
57 34 2NN+1 4Q 150 58.0 10.0|20 71 44 N-3 *A -150 58.0 10.0( 9 77 4v V+1 43 -450 39.0 29.0
48 51 2v S+1 %6 140 56.0 120| 4 12 3v V+1 4A -170  56.0 12.0(20 71 4y V+1 ¢A -450 39.0 29.0
8 78 24 N+2 5 130 520 16.0|14 2 3v V+2 &A -200 51.0 17.0(28 63 4y V+1 43 -450 39.0 29.0
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16 75 3# N+1 v5 130 52.0 160|129 62 3y O+2 &) -200 51.0 17.0(29 62 4v V+1 +A -450 39.0 29.0
47 52 3« N+1 6 130 52.0 16.0(53 46 3v V+2 &A -200 51.0 17.0(32 59 4v V+1 &3 -450 39.0 29.0
61 30 2NN= *7 120 48.0 20.0|68 23 2v V+3 4A -200 51.0 17.0(33 58 4y V+1 &3 -450 39.0 29.0
5 11 2v N= &2 110 43.0 25.0(32 59 34DN-2 #A -300 46.0 22.0(47 52 5v V= *A -450 39.0 29.0
50 49 3« N= 2 110 43.0 25.0( 8 78 4v V= 4 A -420 39.0 29.0(48 51 4y V+1 a3 -450 39.0 29.0
66 25 3& N= «Q 110 43.0 25.0|48 51 4v V= s A -420 39.0 29.0(50 49 4v V+1 #A -450 39.0 29.0
73 18 2v S= *6 110 43.0 25.0(54 45 4v V= LYN -420 39.0 29.0 (53 46 4v V+1 +A -450 39.0 29.0
10 76 34 O-1 &2 100 35.0 33.0|57 34 4v V= 4 A -420 39.0 29.0(54 45 4v V+1 +A -450 39.0 29.0
32 59 24 O-1 #Q 100 350 33.0(72 19 4v V= s A -420 39.0 29.0(56 35 5v V= 43 -450 39.0 29.0
56 35 34 O-1 ¢5 100 35.0 33.0|80 6 4v V= LYN -420 39.0 29.0(57 34 4v V+1 #A -450 39.0 29.0
69 22 INO-1 2 100 35.0 330 1 15 4v V+1l &A -450 16.0 52.0(60 31 4v V+1 vQ -450 39.0 29.0
115 3vS-1 &5 50 25.0 430 3 13 4v V+l eA -450 16.0 52.0 (64 27 4v V+1 3 -450 39.0 29.0
9 77 3NN-1 «Q 50 25.0 430 5 11 4v V+1l &2 -450 16.0 52.0(65 26 4v V+1 +A -450 39.0 29.0
28 63 3#S-1 4A 50 25.0 430 7 79 4v O+1 3 -450 16.0 52.0(66 25 4y V+1 3 -450 39.0 29.0
54 45 2NN-1 &2 50 25.0 43.0| 9 77 4v V+1 4A -450 16.0 52.0(68 23 4y V+1 &3 -450 39.0 29.0
60 31 3v S-1 %6 50 25.0 43010 76 4v V+1 4A -450 16.0 52.0(69 22 4v V+1 +A -450 39.0 29.0
70 21 3#N-1 v5 50 25.0 43.0(28 63 4v V+1 4A -450 16.0 52.0(70 21 4v V+1 +A -450 39.0 29.0
779 3#N-2 4Q -100 12.0 56.0(47 52 4v O+1 &J -450 16.0 52.0(72 19 4v V+1 +A -450 39.0 29.0
14 2 34DN-1 «Q -100 12.0 56.0 (50 49 4v V+1 &A -450 16.0 52.0(73 18 4v V+1 #A -450 39.0 29.0
64 27 29 S-2  #6 -100 12.0 56.0 (56 35 4v V+1 &A -450 16.0 52.0| 1 15 4v V+2 48 -480 10.0 58.0
65 26 3NN-2 &3 -100 12.0 56.0(61 30 4v O+1 ] -450 16.0 520 3 13 4v V+2 #A -480 10.0 58.0
68 23 3#DN-1 +¢6 -100 12.0 56.0 (66 25 4v V+1 &A -450 16.0 52.0| 8 78 4v V+2 vQ -480 10.0 58.0
72 19 3vS-2 48 -100 12.0 56.0 (67 24 4v V+1 &A -450 16.0 52.0(10 76 4y V+2 43 -480 10.0 58.0
74 17 3#DN-1 v5 -100 12.0 56.0(69 22 4v V+1 &A -450 16.0 52.0(61 30 4v V+2 vQ -480 10.0 58.0
29 62 24 V= a4 ;110 3.0 65.0(70 21 4v V+1 &A -450 16.0 52.0(16 75 4vDV= v7 -590 4.0 64.0
33 58 3¢ V= vQ -110 3.0 65.0(73 18 4v V+1 &A -450 16.0 52.0(80 6 44DS-4 vA -1100 2.0 66.0
3 13 44DN-3 v5 -500 0.0 68.0(74 17 4v V+1 &A -450 16.0 520 5 11 3vyDS-6 7 -1700 0.0 68.0
- 55 316| - 55 316| - 55 31.6
19 & Kn972 20 93 21 8
Syd vE6 Vast vED9 Nord v Kn984
ov ¢ ED2 Alla ¢ E64 NS ¢ ED1084
#EKD5 #K9852 #Kn87
10 #8543 a7 « EKD62 «D7643 «K95
vDKn84 vK97532 v Kn82 v K10754 vE72 v K53
¢ K7654 98 ¢ K1087 ¢ Kn5 ¢+ K2 ¢ 953
#Kn86 &7 #EDKn107 #4 #1054 #EKD3
« EKD6 4 Kn10854 « EKn102
v10 v63 vD106
¢ Kn103 + D932 ¢+ Kn76
#109432 #63 £962
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéang
6 12 7NN= +9 1520 68.0 00(67 26 3NV-4 vA 400 68.0 00| 6 12 44DO-3 v6 500 68.0 0.0
45 56 74 S= v4 1440 66.0 20| 4 14 3NV-3 &2 300 65.0 3.0(29 64 44 O-3 &2 150 66.0 2.0
2 16 64 S+1  vQ 1010 47.0 21.0(54 47 4v O-3 &6 300 65.0 30| 2 16 3NO-2 &2 100 57.0 11.0
4 14 64 N+1 &7 1010 470 21.0{80 7 3NDV-1 49 200 620 6.0(11 76 44 V-2 v8 100 57.0 110
5 13 64 N+1 &2 1010 47.0 21.0( 6 12 4v V-1 +A 100 58.0 10.0(49 52 3NO-2 &9 100 57.0 11.0
9 78 64 N+1 &7 1010 47.0 21.0({10 77 4y O-1 %6 100 58.0 10.0 (54 47 44 O-2 &2 100 57.0 11.0
10 77 64 N+1 &7 1010 47.0 21.0({73 20 3NO-1 & 100 58.0 10.0(65 28 3NO-2 6 100 57.0 110
11 76 64 N+1 #8 1010 47.0 21.0({29 64 24 O= v6 -110 54.0 14.0(66 27 44 O-2 &2 100 57.0 11.0
15 3 64 N+1 &7 1010 47.0 21.0({15 3 2NO= a4 -120 52.0 16.0(69 24 44 O-2 &2 100 57.0 11.0
17 1 64 N+1 9 1010 470 21.0|61 32 2¢v V+1 49 -140 50.0 18.0 (71 22 44 O-2 +6 100 57.0 110
21 72 64 N+1 v9 1010 47.0 21.0( 9 78 3v O+1 & -170  47.0 21.0| 5 13 34 O-1 3 50 37.0 31.0
30 63 64 N+1 #J 1010 47.0 21.0(71 22 3y O+1 2 -170  47.0 21.0(10 77 44 O-1 +6 50 37.0 31.0
33 60 64 S+1 T 1010 470 21.0| 2 16 3NO= v6 -600 39.0 29.0(21 72 44 V-1 ¢A 50 37.0 310
49 52 64 S+1 vQ 1010 47.0 21.0(30 63 3NV= »2 -600 39.0 29.0(30 63 34 O-1 &2 50 37.0 31.0
58 35 64 N+1 &5 1010 47.0 21.0(33 60 3NO= +3 -600 39.0 29.0(34 59 34 O-1 &9 50 37.0 31.0
65 28 64 N+1 &7 1010 47.0 21.0(45 56 3NV = »2 -600 39.0 29.0(48 53 34 O-1 v6 50 37.0 31.0
66 27 64 N+1 &7 1010 47.0 21.0(58 35 3NO= 43 -600 39.0 29.0(61 32 44 O-1 &9 50 37.0 31.0
67 26 64 N+1 &7 1010 47.0 21.0(69 24 3NV = vA -600 39.0 29.0(67 26 34 O-1 &2 50 37.0 31.0
69 24 64 N+1 &7 1010 47.0 21.0( 5 13 4v O= +3 -620 28.0 40.0(68 25 44 O-1 &9 50 37.0 31.0
75 18 64 S+1  vQ 1010 47.0 21.0(51 50 4v O= »6 -620 28.0 40.0(70 23 44 O-1 %6 50 37.0 31.0
51 50 64 N= &7 980 27.0 41062 31 4v O= +3 -620 28.0 40.0(73 20 2NO-1 &2 50 37.0 31.0
71 22 64 N= &7 980 27.0 410(70 23 4v O= *6 -620 28.0 40.0(80 7 2NO-1 49 50 37.0 31.0
8 79 64 S+l oT 940 22.0 46075 18 4v O= +3 -620 28.0 40.0(58 35 INO= &2 -90 24.0 44.0
54 47 64 N+1 v3 940 220 460 8 79 3NO+1 v6 -630 19.0 49.0| 4 14 24 O= &2 -110 18.0 50.0
73 20 64 N+1 v3 940 22.0 460|165 28 3NO+1 &J -630 19.0 49.0 8 79 24 O= +5 -110 18.0 50.0
55 46 3NN+4 43 520 16.0 52.0|66 27 3NV +1 &9 -630 19.0 49.0( 9 78 24 V= &7 -110 18.0 50.0
70 23 3NN+4 v3 520 16.0 52.0|68 25 3NV +1 ¢4 -630 19.0 49.0 (45 56 24 O= v6 -110 18.0 50.0
74 19 5NN+2 3 520 16.0 52.0|17 1 4y V+1l +A -650 8.0 60.0(62 31 24 V= v9 -110 18.0 50.0
29 64 44 S+3 AT 510 9.0 59.0|21 72 4v O+1 3 -650 8.0 60.0(74 19 INO+1 3 -120 12.0 56.0
34 59 44 N+3 ¢4 510 9.0 59.0(34 59 4v O+1 &6 -650 8.0 60.0(17 1 24 O+1 &2 -140 8.0 60.0
48 53 44 S+3 T 510 9.0 59.0|48 53 5v O= »6 -650 8.0 60.0(51 50 34 V= 8 -140 8.0 60.0
61 32 44 N+3 &7 510 9.0 59.049 52 4v O+1 3 -650 8.0 60.0(75 18 3a V= ¢A -140 8.0 60.0
62 31 3NN+3 v5 490 4.0 64.0|55 46 4v O+1 ¢2 -650 8.0 60.0(33 60 2NO+1 T -150 4.0 64.0
68 25 44 N+1 &7 450 20 66.0(74 19 4v O+1 3 -650 8.0 60.0 (55 46 3NO= »4 -400 2.0 66.0
80 7 5#N+2 vK 440 0.0 68.0|11 76 24DN-4 &2 -1100 0.0 68.0|15 3 34DV= +A -530 0.0 68.0
57 - 30.6 57 - 30.6 57 - 30.6
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22 «E64 23 463 24 & KKn65
Ost v 86 Syd v6 Vast v Kn8652
ov + ED987 Alla ¢ Kn10532 Ingen +6
853 108752 &KKn9
& K9 & Kn87 &4 KKn75 #92 «ED4 49873
vKKn42 vD7 v 9532 v ED1087 v73 v KD1094
¢ K654 ¢ Knl02 + D9 + EK6 ¢+ D4 + 1097
764 &#DKn1092 D43 &EK9 &#ED10762 %8
4 D10532 «ED1084 4102
v E10953 v KKn4 vE
+3 ¢+ 874 ¢ EKKn8532
&EK #Kn6 543
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 19 46 S+1 @] 450 68.0 00|75 20 3NV-1 46 100 68.0 0.0(75 20 44DV-4 +6 800 68.0 0.0
3 17 44 S= &4 420 57.0 11.0(31 64 2v O+2 ¢5 -170 65.0 3.0(|18 2 4¢DS+1 v7 610 66.0 2.0
5 15 44 S= &4 420 57.0 11.0|34 61 2vy O+2 &J -170 65.0 3.0|50 53 4¢DS= +¥3 510 64.0 4.0
7 13 44 S= &2 420 57.0 110 5 15 3NV= 46 -600 58.0 10.0|62 33 3NN+2 «9 460 62.0 6.0
22 73 44 S= &4 420 57.0 11.0( 7 13 3NV= 46 -600 58.0 10.0|12 76 3NN= &8 400 58.0 10.0
34 61 44 S= *4 420 570 11.0(18 2 3NO= 46 -600 58.0 10.0|49 54 3NN= &8 400 58.0 10.0
35 60 44 S= &7 420 57.0 11.0(22 73 3NV= 46 -600 58.0 10.0|67 28 5¢ S= +3 400 58.0 10.0
46 57 44 S= vQ 420 57.0 11.0(63 32 3NV= 46 -600 58.0 10.0(10 78 4#V -5 +6 250 54.0 14.0
52 51 44 S= +5 420 570 110| 1 19 4vO= s A -620 28.0 40.0( 7 13 3vO-4 *+K 200 49.0 19.0
63 32 44 S= &7 420 57.0 11.0| 3 17 4v O = &] -620 28.0 40.0 (46 57 34 O-4 vA 200 49.0 19.0
80 8 44 S= &4 420 57.0 11.0(10 78 4v O = EN| -620 28.0 40.0|63 32 3v O-4 *A 200 49.0 19.0
62 33 3NS= +5 400 46.0 22.0|11 77 4v O= &J -620 28.0 40.0|69 26 44V -4 +6 200 49.0 19.0
66 29 24 S+1 &4 140 44.0 24.0|12 76 4y O= *4 -620 28.0 40.0( 3 17 3¢ S+2 v7 150 35.0 33.0
6 14 44 S-1 &7 50 22.0 46.0|16 4 4y O= ¢4 -620 28.0 40.0| 6 14 4¢ S+1 v7 150 35.0 33.0
9 79 44 S-1 *6 -50 22.0 46.0|30 65 4v V= 46 -620 28.0 40.0|16 4 3¢ S+2 +Q 150 35.0 33.0
10 78 44 S-1 +6 -50 22.0 46.0|35 60 4v V= 46 -620 28.0 40.0|22 73 3¢ S+2 v7 150 35.0 33.0
11 77 46 S-1 &4 -50 22.0 46.0|46 57 4v V= 46 -620 28.0 40.0|31 64 4¢ S+1 #A 150 35.0 33.0
12 76 44 S-1 +5 -50 22.0 46.0|49 54 4v O= &J -620 28.0 40.0|66 29 4¢ S+1 v7 150 35.0 33.0
16 4 46 S-1 v4 -50 22.0 46.0|50 53 4y O= &2 -620 28.0 40.0|70 25 3¢ S+2 v7 150 35.0 33.0
18 2 46 S-1 &4 -50 22.0 46.0|52 51 4v O= 7 -620 28.0 40.0|71 24 3¢ S+2 v7 150 35.0 33.0
30 65 44 S-1 v4 -50 22.0 46.0|55 48 4v O= 7 -620 28.0 40.0|74 21 3¢ S+2 #A 150 35.0 33.0
31 64 44 N-1 v3 -50 22.0 46.0|56 47 4y V= 46 -620 28.0 40.0|/80 8 3¢ S+2 ¢4 150 35.0 33.0
49 54 44 S-1 &4 -50 22.0 46.0|58 45 4v V= 46 -620 28.0 40.0|11 77 4¢ S= &2 130 22.0 46.0
50 53 44 S-1 »6 -50 22.0 46.0|62 33 4v O= &J -620 28.0 40.0|34 61 4¢ S= &A 130 22.0 46.0
55 48 44 S-1 v4 -50 22.0 46.0|66 29 4y O= s A -620 28.0 40.0|72 23 2¢ S+2 v7 130 22.0 46.0
56 47 44 S-1 &4 -50 22.0 46.0|67 28 4v V= 46 -620 28.0 40.0| 1 19 3¢ S= v7 110 15.0 53.0
58 45 3NS-1 &5 -50 22.0 46.0|68 27 4v O= *4 -620 28.0 40.0|30 65 3¢ S= &A 110 15.0 53.0
67 28 44 S-1 &7 -50 22.0 46.0(69 26 4y O= *4 -620 28.0 40.0|35 60 3¢ N= &8 110 15.0 53.0
68 27 44 S-1 &4 -50 22.0 46.0|70 25 4y V= 46 -620 28.0 40.0(58 45 3¢ S= SA 110 15.0 53.0
69 26 44 S-1 v2 -50 22.0 46.0|71 24 4y V= *J -620 28.0 400 9 79 3vDO-1 ¥vA 100 9.0 59.0
70 25 44 S-1 &7 50 22.0 46.0|72 23 4v O= +8 -620 28.0 40.0|55 48 3v O-2 +K 100 9.0 59.0
72 23 44 S-1 &4 -50 22.0 46.0|74 21 4y V= 46 -620 28.0 40.0|52 51 3NS-1 v7 -50 5.0 63.0
74 21 44 N-1 &4 50 22.0 46.0(80 8 4v O= +8 -620 28.0 40.0|56 47 3NS-1 +Q -50 5.0 63.0
75 20 44 S-1 +3 50 22.0 46.0| 9 79 3NV+1l ¢J -630 20 66.0f 5 15 3NN-3 &8 -150 1.0 67.0
71 24 44D S-1 &7 -100 0.0 68.0| 6 14 3#DN-3 ¢A -800 0.0 68.0|68 27 3v N-3 a7 -150 1.0 67.0
59 - 32.3 59 - 32.3 59 - 32.3
25 & Kn 26 & K4 27 #1082
Nord v 109632 Ost v D962 Syd v E1062
oV ¢ K9754 Alla + D62 Ingen + ED83
&42 &#EKn104 &#Kn8
«4D10982 475 «4Kn9873 & D105 495 & K64
vE v KD85 vE7 v KKn84 vKDKn3 ¢87
+82 ¢+ EKn10 + K9 + E1074 ¢+ Kn52 + K764
&#E9876  #KKnl1l05 #7653 D8 10975 #»E632
& EK643 4 E62 & EDKN73
vKn74 v 1053 v 954
+ D63 ¢ Kn853 + 109
D3 »K92 &#KD4
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 21 44DV-2 ¢3 500 68.0 00| 8 14 3¢+ O-3 +3 300 68.0 0.0 7 15 3«DV-3 &J 500 68.0 0.0
53 52 6# V-3 s 300 66.0 20| 7 15 INO-2 +6 200 65.0 3.0|71 26 3NS+ vK 430 66.0 2.0
17 5 464 O-2 +Q 200 63.0 5.0(35 62 34 O-2 v6 200 65.0 3.0(63 34 44 S= vK 420 64.0 4.0
56 49 4e V-2 &4 200 63.0 50|60 45 24 V-1 v6 100 620 6.0(80 9 INN+4 +¢6 210 62.0 6.0
13 76 3NO-1 Ly 100 60.0 80|13 76 INO= v3 90 56.0 12012 77 2NS+2 +vK 180 56.0 12.0
70 27 INO+1 #4 -120 58.0 10.0|31 66 INO= &4 90 56.0 12017 5 INN+3 ¢4 180 56.0 12.0
8 14 264V +2 4] -130 56.0 12.0|32 65 INO= &K 90 56.0 12.0|50 55 INN+3 ¢8 180 56.0 12.0
35 62 3&#V+2 4] -150 53.0 15.0|63 34 INO= *7 90 56.0 12.0(59 46 INN+3 ¢4 180 56.0 12.0
69 28 34 O+2 4A -150 53.0 150|71 26 INV= v6 -90 56.0 12.0|69 28 INN+3 ¢8 180 56.0 12.0
2 20 INV+3 3 -180 47.0 21.0| 6 16 2¢ S-1 &5 -100 50.0 18.0| 4 18 24 S+2 vK 170 42.0 26.0
4 18 2NO+2 ¢3 -180 47.0 21.0| 4 18 24 V= v3 -110 43.0 25011 78 34 S+1 ¥vK 170 42.0 26.0
31 66 INO+3 &J -180 47.0 21.0|17 5 24 V= a2 -110 43.0 25.0|35 62 24 S+2 vK 170 42.0 26.0
75 22 INV+3 ¢4 -180 47.0 21.0|50 55 24 V= v3 -110 43.0 25.0|51 54 34 S+1 vK 170 42.0 26.0
6 16 24 S-5 +8 -250 42.0 26.0|53 52 24 V= v6 -110 43.0 25.0|53 52 34 S+1 ¢¥K 170 42.0 26.0
67 30 2¢DS-3 YA -500 40.0 28.0|67 30 24 V= &K -110 43.0 25.0|56 49 34 S+1 ¢vK 170 42.0 26.0
7 15 5 V= a] -600 31.0 37.0|70 27 24 O= +3 -110 43.0 25.0|67 30 24 S+2 vK 170 42.0 26.0
11 78 3NV= s -600 310 37.0|59 46 INO+1 3 -120 34.0 34.0|70 27 34 S+1 vK 170 42.0 26.0
12 77 3NV = *4 -600 31.0 37.0|69 28 INO+1 3 -120 34.0 34.0|73 24 34 S+1 vK 170 42.0 26.0
47 58 5# O = s A -600 31.0 370|800 9 INO+1 #3 -120 34.0 34.0|10 79 2NS+1 ¢vK 150 29.0 39.0
64 33 3NO= s A -600 310 370| 1 21 3v V= v6 -140 23.0 45.0(23 74 INN+2 ¢6 150 29.0 39.0
71 26 3NO= &K -600 31.0 37.0|10 79 14 O+2 ¢3 -140 23.0 45.0|32 65 2NS+1 ¢vK 150 29.0 39.0
72 25 3NV = a] -600 31.0 37.0|12 77 24 V+1 ¢2 -140 23.0 45.0|60 45 2NS+1 ¢vK 150 29.0 39.0
80 9 3NV= v2 -600 31.0 37.0|23 74 24 V+1 ¢2 -140 23.0 450 1 21 24 N+1 v7 140 17.0 51.0
19 3 3NO+1 3 -630 15.0 53.0|47 58 24 O+1 ¢3 -140 23.0 450| 2 20 34 S= vK 140 17.0 51.0
23 74 3NV+1 ¢4 -630 15.0 53.0|56 49 24 V+1 v6 -140 23.0 450| 6 16 34 S= vK 140 17.0 51.0
50 55 BNO+1 42 -630 15.0 53.0|57 48 24 V+1 ¢2 -140 23.0 450| 8 14 34 S= vK 140 17.0 51.0
57 48 3NO+1 «4 -630 15.0 53.0|72 25 24 V+1 2 -140 23.0 45.0|13 76 34 S= vK 140 17.0 51.0
59 46 3NV +1 & -630 15.0 53.0|51 54 INO+2 ¥6 -150 13.0 55.0|19 3 34 S= vK 140 17.0 51.0
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60 45 3NO+1 44 -630 15.0 53.0|73 24 INO+2 3 -150 13.0 55.0(68 29 34 S= vK 140 17.0 51.0
68 29 3NO+1 3 -630 15.0 53.0( 2 20 INDO= ¥3 -180 8.0 60.0|72 25 34 S= vK 140 17.0 51.0
73 24 3NV+1 4] -630 15.0 53.0(68 29 INO+3 ¢3 -180 8.0 60.0|64 33 24 S= vK 110 8.0 60.0
10 79 3BNO+2 v4 -660 3.0 65.0(75 22 INO+3 45 -180 8.0 60.0(31 66 44 S-1 vK -50 4.0 64.0
32 65 3NO+2 #Q -660 3.0 65.0|11 78 INS-2 49 -200 40 64.0(47 58 44 S-1 vK -50 4.0 64.0
51 54 3NO+2 &A -660 3.0 65.0|64 33 INO+4 a2 -210 2.0 66.0|75 22 44 S-1 vK -50 40 64.0
63 34 3NV +2 & -660 3.0 650(19 3 3a&N-3 4Q -300 0.0 68.0 (57 48 2& N-2 v8 -100 0.0 68.0
- 61 28.2| - 61 28.2| - 61 28.2
28 « D83 29 463 30 « Knl074
Vast v EK8 Nord vD53 Ost v D42
NS +32 Alla ¢ K7632 Ingen + Kn1084
&EKKn84 &E104 #Kn6
4 Kn964 4K10752 4 KD95 #1087 4962 « EKD3
vD3 v76 vE76 v1082 v K65 vKnl10
+ 10754 ¢ KD6 +94 + Kn85 +9 + E63
D72 #953 #K972 #D653 &#E87542 #KD93
sE & EKn42 4385
v Kn109542 v KKn94 v E9873
¢ EKn98 ¢+ ED10 ¢ KD752
£106 #Kn8 «10
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
519 7v N= K 2210 680 00| 5 19 3NS+2 &5 660 500 90| 1 23 640-1 +¢K 50 67.0 10
12 78 6y N+1 v6 1460 63.0 50| 7 17 3NS+2 4K 660 59.0 9.0(12 78 44 O-1 &T 50 67.0 1.0
14 76 6y S+1 +3 1460 63.0 50|11 79 3NS+2 4K 660 59.0 9.0( 5 19 34 O+1 &T -170 58.0 10.0
48 59 6y S+1 46 1460 63.0 50|12 78 3NS+2 45 660 500 90| 7 17 340 +3 +¢K -170 58.0 10.0
54 53 6v S+1 46 1460 63.0 50|14 76 3NS+2 43 660 59.0 9.0|13 77 44 0O0+2 K -170 58.0 10.0
1 23 6y N= *+K 1430 55.0 13.0{18 6 3NS+2 9 660 59.0 9.0(45 62 3#V+3 vQ -170 58.0 10.0
60 47 6y N= oT 1430 55.0 13.0|61 46 3NS+2 &K 660 59.0 9.0|57 50 44 O+2 48 -170 58.0 10.0
73 26 6¥ S= a4 1430 55.0 13.0|70 29 3NS+2 45 660 590 9.0(74 25 44V +2 v2 -170 58.0 10.0
80 10 6¥Y N= +K 1430 55.0 13.0|71 28 3NS+2 49 660 59.0 9.0|/80 10 44 O +2 +¢K -170 58.0 10.0
2 22 5v S+2 46 710 38.0 30.0{74 25 3NS+2 &5 660 59.0 9.0(65 34 3NV= v2 -400 50.0 18.0
3 21 49y S+3 46 710 38.0 30.0| 1 23 3NS+1 4K 630 41.0 27.0| 3 21 540+1 YA -420 410 27.0
7 17 4v N+3 &5 710 38.0 30.0| 2 22 3NS+1 &K 630 410 27.0| 9 15 54 0O +1 ¢K -420 41.0 27.0
8 16 5v S+2 46 710 38.0 30.0|13 77 3NS+1 ¥vA 630 41.0 27.0|18 6 5#0+1 ¢K -420 410 27.0
11 79 49y S+3 46 710 38.0 30.0{24 75 3NS+1 &K 630 41.0 27.0(48 59 44 O= +K -420 410 27.0
13 77 49y N+3 v7 710 38.0 30.0|54 53 3NS+1 &K 630 41.0 27.0|52 55 54V +1 ¢K -420 41.0 27.0
18 6 4vy S+3 46 710 38.0 30.0|58 49 3NS+1 4K 630 41.0 27.0|64 35 44 V= a7 -420 410 27.0
32 67 4v S+3 +6 710 38.0 30.0|69 30 3BNS+1 4K 630 41.0 27.0|68 31 54 O+1 YA -420 410 27.0
45 62 4y N+3 %9 710 38.0 30.0|80 10 3NS+1 &K 630 410 27.0|73 26 5# O+1 ¢K -420 41.0 27.0
51 56 4y N+3 v7 710 38.0 30.0| 9 15 3NS= &K 600 30.0 38.0{72 27 3NO+1 ¢4 -430 32.0 36.0
65 34 4y S+3 4] 710 38.0 30.0|/20 4 3NS= oK 600 30.0 38.0| 2 22 44 O+1 +¢K -450 29.0 39.0
69 30 4y S+3 46 710 38.0 30.0(32 67 3NS= v6 600 30.0 38.0(33 66 44 O+1 YA -450 29.0 39.0
72 27 4v S+3 46 710 38.0 30.0|48 59 INS+4 &K 210 240 440| 8 16 3NO+2 w7 -460 20.0 48.0
9 15 4v N+2 @7 680 13.0 55.0(|65 34 INS+4 &5 210 240 440(14 76 3NV+2 v2 -460 20.0 48.0
20 4 5y N+1 ¢K 680 13.0 55.0(68 31 2NS+3 4Q 210 240 440(32 67 3NO+2 ¢8 -460 20.0 48.0
24 75 4y N+2 97 680 13.0 55.0(73 26 2y S+3 ¢9 200 20.0 48.0|51 56 3NO+2 +¢2 -460 20.0 48.0
33 66 4y S+2 46 680 13.0 55.0| 3 21 2NS+2 &K 180 16.0 52.0 (58 49 3NV +2 2 -460 20.0 48.0
52 55 4v S+2 44 680 13.0 55.0|45 62 INS+3 &2 180 16.0 52.0|61 46 3NO+2 ¢2 -460 20.0 48.0
57 50 4vy N+2 ¢K 680 13.0 55.0|57 50 2NS+2 +9 180 16.0 52.0(71 28 3NO+2 ¢K -460 20.0 48.0
58 49 4vy N+2 ¢K 680 13.0 55.0| 8 16 2NS+1 &K 150 12.0 56.0 |54 53 3NO+3 ¢3 -490 10.0 58.0
61 46 4y N+2 46 680 13.0 55.0(64 35 3v S= s K 140 10.0 58.0 (60 47 3NV +3 2 -490 10.0 58.0
68 31 5v N+1 &5 680 13.0 55.0(33 66 3¢ S+1 ¢4 130 8.0 60.0|/69 30 3NV+3 v2 -490 10.0 58.0
70 29 4vy N+2 ¢K 680 13.0 55.0|51 56 3NS-1 oK -100 40 64.0(11 79 64 0O= +K -920 3.0 65.0
71 28 4y S+2 46 680 13.0 55.0(52 55 3NS-1 *2 -100 40 640|120 4 640= + K -920 3.0 65.0
74 25 4v S+2 ¢5 680 13.0 55.0|60 47 3NS-1 &K -100 40 64.0(24 75 64O = *+ K -920 3.0 65.0
64 35 4y N+1 ¢K 650 0.0 68.0(72 27 24 S-2 +3 -200 0.0 68.0(70 29 6&# O= +K -920 3.0 65.0
- 63 399 - 63 39.9| - 63 39.9
31 « KD65 32 & Kn32 33 & K543
Syd vED3 Vast v ED843 Nord v43
NS + D6 ov + K9 Ingen ¢ E10932
&KD92 #Kn53 &KKn
49432 487 410864 4 KD97 « D7 4 Kn9
v 9874 vKKnl0 v Kn5 v K6 vEKKn102 v D976
41043 ¢ K972 ¢+E102 874 + D86 + Kn5
&76 #EB843 #E962 #D1074 #1074 #ED986
« EKn10 «E5 « E10862
v 652 v 10972 v 85
¢ EKn85 ¢ DKn653 + K74
#Knl05 K8 #532
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
58 51 6N N= vT 1440 68.0 00| 9 17 44 V-2 vA 200 68.0 00| 6 20 34 S+1 vA 170 67.0 1.0
45 64 64 N= 43 1430 66.0 20|55 54 3vy N+1 &K 170 64.0 4.0|13 78 34 N+1 v6 170 67.0 1.0
13 78 BNN+3 »T 690 63.0 50(59 50 3vy N+1 ¢4 170 640 40|10 16 34 S= vA 140 61.0 7.0
55 54 3NN+3 ¢7 690 63.0 50(73 28 3y N+1 8 170 64.0 4.0|52 57 34 S= vA 140 61.0 7.0
4 22 3NN+2 o7 660 50.0 18.0| 4 22 3v N= oK 140 55.0 13.0|58 51 34 S= vA 140 61.0 7.0
6 20 3NS+2 +3 660 50.0 18.0| 6 20 3y N= oK 140 55.0 13.0|72 29 24 S+1 ¥vA 140 610 7.0
8 18 3ANN+2 &4 660 50.0 18021 5 3v N= 4 140 55.0 13.0| 2 24 4vyDV-1 #4 100 56.0 12.0
14 77 3NS+2 9 660 50.0 18.0|25 1 3v N= oK 140 55.0 13.0| 8 18 4v V-1 43 50 45.0 23.0
25 1 3NN+2 o7 660 50.0 18.0|58 51 3y N= oK 140 55.0 13.0(12 79 4v V-1 a4 50 45.0 23.0
46 63 3NN+2 48 660 50.0 18.0|62 47 3v N= oK 140 55.0 13.0(19 7 4v O-1 ¢4 50 45.0 23.0
52 57 3NS+2 T 660 50.0 18.0|61 48 2v N= oK 110 48.0 20.0(21 5 4v V-1 43 50 45.0 23.0
62 47 3NN+2 8 660 50.0 18.0| 2 24 Pass 36.0 32.0|55 54 4v V-1 43 50 45.0 23.0
69 32 3NS+2 v4 660 50.0 18.0|12 79 Pass 36.0 32.0|62 47 4v V-1 *A 50 45.0 23.0
70 31 3NN+2 vK 660 50.0 18.0|13 78 Pass 36.0 32.0|66 35 4v V-1 a4 50 45.0 23.0
75 26 3NS+2 v9 660 50.0 18.0|19 7 Pass 36.0 32070 31 4v V-1 43 50 45.0 23.0
2 24 3NN+1 48 630 24.0 44.0149 60 Pass 36.0 32071 30 4v V-1 a4 50 45.0 23.0
12 79 3NS+1 7 630 24.0 44.0|53 56 Pass 36.0 32.0|80 11 4v V-1 a4 50 45.0 23.0
15 76 3ANN+1 438 630 240 44.0|66 35 Pass 36.0 320| 4 22 34 S-1 vA -50 31.0 37.0
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19 7 3NN+1 48 630 240 44.0|69 32 Pass 36.0 32025 1 34 S-1 vA -50 31.0 37.0
21 5 3NS+1 v9 630 240 44.0|71 30 Pass 36.0 32.0(49 60 34 S-1 vA -50 31.0 37.0
33 68 4NS= v7 630 240 44.0|72 29 Pass 36.0 32.0|53 56 34 S-1 vA -50 31.0 37.0
34 67 3NS+1 v9 630 24.0 44.0|74 27 Pass 36.0 32.0|61 48 44 S-2 vA -100 25.0 43.0
49 60 3NS+1 v9 630 240 440| 8 18 4v S-1 ¢+ 4 -50 19.0 49.0|73 28 44 S-2 vA -100 25.0 43.0
53 56 BNN+1 8 630 240 440|10 16 3vy N-1  «K -50 19.0 49.0| 3 23 3v V= ¢A -140 19.0 49.0
59 50 3NS+1 v9 630 240 44.0|34 67 4vy N-1  #K -50 19.0 49.0|14 77 3v V= ¢ A -140 19.0 49.0
61 48 ANS= v9 630 240 44.0|45 64 4vy N-1  «K -50 19.0 49.0|15 76 3v V= a4 -140 19.0 49.0
72 29 3NS+1 v9 630 240 440|75 26 4vy N-1  «K -50 19.0 49.0|74 27 3v V= a4 -140 19.0 49.0
73 28 BNN+1 48 630 240 440|800 11 4v N-1 «K -50 19.0 49.0|33 68 3v V+1 ¢2 -170  14.0 54.0
74 27 3NS+1  v7 630 240 440| 3 23 4vy N-2 #K -100 8.0 60.0(46 63 3v V+2 v4 -200 12.0 56.0
80 11 3NN+1 8 630 240 440|14 77 4v N-2 K -100 8.0 60.0(59 50 44DS-2 vA -300 10.0 58.0
71 30 3NN= 48 600 8.0 60.0|15 76 4y N-2 &K -100 8.0 60.0(69 32 54 O= + K -400 8.0 60.0
66 35 2¢vDV-2 &K 300 6.0 62.0|46 63 4vDN-1 &7 -100 8.0 60.0 (45 64 4v V= a4 -420 6.0 62.0
3 23 2NN+3 &4 210 40 64.0(52 57 4v N-2 &K -100 8.0 60.0( 9 17 4v V+1l v4 -450 2.0 66.0
9 17 2NN+2 &4 180 2.0 66.0|33 68 INN-3 *7 -150 2.0 66.0(34 67 4y V+1 v4 -450 2.0 66.0
10 16 44 N-1 #4 -100 0.0 68.0|70 31 5¢DN-2 4K -300 0.0 68.0(75 26 4v O+1 8 -450 2.0 66.0
65 - 43.1 65 - 43.1 65 - 43.1
34 « KD86 35 32 36 K52
Ost v E10982 Syd v Kn87 Vast vKD107642
NS ¢+ ED84 oV ¢ 1072 Alla ¢72
»- #E10543 &7
4 E9 4 Kn1072 4 EK104 4D9 4Kn74 #E1083
v 753 v KD64 v 95 v ED1032 v953  vKn
¢ K75 + Kn102 +53 + KDKn86 ¢+K83 ¢E109
#D8765 #EK #DKn762 #K #ED84 #Knl10532
543 # Kn8765 « D96
vKn v K64 vES8
4963 ¢+ E94 + DKn654
#Kn109432 98 K96
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
62 49 24DN= ¢ 670 68.0 0.0[(54 57 3NV-1 3 100 68.0 00|15 77 3v N+1 #J 170 67.0 1.0
16 76 3NDO-3 vJ 500 66.0 20| 7 21 3¢ O+1 ¢4 -130 66.0 20(71 32 3y N+1 vJ 170 670 1.0
1 27 3#DO-2 43 300 640 40|35 68 3v O= *9 -140 63.0 50| 1 27 3v N= *2 140 46.0 22.0
54 57 2¢ N+2 4] 130 62.0 6.0(47 64 29 O+1 %9 -140 63.0 50| 4 24 3v N= *] 140 46.0 22.0
63 48 3¢ N= 2 110 60.0 8.0(60 51 2¢v O+2 v4 -170 59.0 9.0 7 21 3v N= *] 140 46.0 22.0
721 2v0-2 &J 100 56.0 12.0(80 12 2v O+2 %9 -170 59.0 9.0(11 17 3v N= s A 140 46.0 22.0
47 64 1INV -2 v2 100 56.0 12.0|70 33 2NV +2 43 -180 56.0 12.0(14 78 3v S= a7 140 46.0 22.0
56 55 2N O -2 #J 100 56.0 120| 1 27 3NO= *9 -600 50.0 18.0(16 76 3v N= *] 140 46.0 22.0
10 18 2¢ N= *K 90 50.0 18.0|16 76 3NO= 45 -600 50.0 18.0(22 6 3v N= s A 140 46.0 22.0
35 68 2¢ N= L) 90 50.0 18.0(46 65 3NV = *4 -600 50.0 18.0 (35 68 3v N= *] 140 46.0 22.0
59 52 2& N= *A 90 50.0 18.0|71 32 3NV = 3 -600 50.0 18.0 (46 65 3v N= *] 140 46.0 22.0
53 58 2N O-1  #J 50 45.0 23.0|75 28 3NV = 2 -600 50.0 18.0 (50 61 3v N= *J 140 46.0 22.0
66 45 2NO-1  vJ 50 45.0 23.0| 3 25 4v O= *9 -620 43.0 25.0(56 55 3v N= *] 140 46.0 22.0
523 INV= &K -90 39.0 29.0|10 18 4v O= *9 -620 43.0 25.0(60 51 3v N= *2 140 46.0 22.0
34 69 INV= v8 90 39.0 29.0| 4 24 3NV+1l 43 -630 28.0 40.0 (63 48 3v S= v3 140 46.0 22.0
50 61 INV= 46 90 39.0 29.0| 9 19 3NV+1l #4 -630 28.0 40.0 (66 45 3v N= *] 140 46.0 22.0
71 32 INV= vT 90 39.0 29.0|11 17 3NV +1 &3 -630 28.0 40.0(70 33 3v N= »5 140 46.0 22.0
4 24 3¢ S-1 »5 -100 28.0 40.0|14 78 3NO+1 %9 -630 28.0 40.0(72 31 3v N= &T 140 46.0 22.0
14 78 3NN-1 45 -100 28.0 40.0|15 77 3NV+1 2 -630 28.0 40.0(74 29 3v N= *2 140 46.0 22.0
15 77 2¢v N-1 &K -100 28.0 40.0|22 6 3NV+1l 43 -630 28.0 40.0(75 28 3v N= *] 140 46.0 22.0
20 8 2v N-1  #K -100 28.0 40.0(53 58 3NV +1 &4 -630 28.0 40.0(80 12 3v N= *J 140 46.0 22.0
46 65 24 N-1  +J -100 28.0 40.0|59 52 3NV +1 43 -630 28.0 40.0( 5 23 4y N-1 &2 -100 18.0 50.0
70 33 29 N-1 4] -100 28.0 40.0|62 49 3NV+1 &4 -630 28.0 400 9 19 4vy N-1 & -100 18.0 50.0
72 31 3v S-1 *7 -100 28.0 40.0(63 48 3NV+1 T -630 28.0 40.0({20 8 4y N-1 &2 -100 18.0 50.0
325 2NO= ] -120 16.0 52.0|66 45 3NV +1 2 -630 28.0 40.0(26 2 4v S-1 +3 -100 18.0 50.0
11 17 INV+1 &K -120 16.0 52.0|72 31 3NV +1l &4 -630 28.0 40.0(47 64 4vy N-1 vJ -100 18.0 50.0
73 30 2NO = s A -120 16.0 52.0|73 30 3NV +1l 43 -630 28.0 40.0(53 58 4y N-1 &J -100 18.0 50.0
75 28 2NO = 3 -120 16.0 52.0|13 79 3NV +2 #4 -660 8.0 60.0(54 57 4vy N-1 &5 -100 18.0 50.0
80 12 INV+1 &K -120 16.0 52.0|20 8 3NV +2 &5 -660 8.0 60.0(59 52 4y N-1 &J -100 18.0 50.0
9 19 3¢ N-2 ¢K -200 6.0 62.0|126 2 3NV+2 T -660 8.0 60.0({73 30 3vy N-1 &J -100 18.0 50.0
22 6 34S-2 +5 200 6.0 62.0|34 69 3NV +2 #4 -660 8.0 60.0(10 18 3« O+1 YA -130 7.0 61.0
26 2 3y N-2 #A -200 6.0 62.0|50 61 3NV +2 3 -660 8.0 60.0(34 69 44 O= vA -130 7.0 61.0
60 51 2v N-2 &K -200 6.0 62.0|56 55 3NO+2 46 -660 8.0 600 3 25 4y N-2 &) -200 2.0 66.0
74 29 3¢DS-1 &A 200 6.0 62.0|74 29 3NV +2 43 -660 8.0 60.0(13 79 3vyDN-1 &J -200 2.0 66.0
13 79 4¢DN-3 42 -800 0.0 68.0| 5 23 3NV+3 &4 -690 0.0 68.0(62 49 4vy N-2 &] -200 2.0 66.0
67 - 41.9 67 - 41.9 67 - 41.9
37 « EK107 38 «E3 39 « KD8
Nord vE932 Ost v K943 Syd v EKDKn95
NS *4 oV ¢+ K Alla ¢ 862
#8732 #KD10876 &2
4853 & Kn 4D1065 4972 4 Kn952 4 E107643
v K65 vKn1084 v 62 v EDKn10 v 763 v 82
¢+ KD109 ¢ Kn8632 ¢ Kn1092 ¢ D83 ¢Kn9s ¢ K7
#Kn105 &D94 &#E92 #543 #E106 #Kn43
« D9642 « KKn84 @-
vD7 v 875 v 104
¢ E75 ¢+ E7654 ¢+ ED1043
#EK6 &Kn #KD9875
Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang
16 77 64 S= + K 1430 68.0 0.0(61 52 3NDS= &5 550 68.0 00|12 18 6v S= LY 1430 64.0 4.0
8 22 44 S+2 43 680 540 140| 5 25 3NN+1 vJ 430 640 40|21 9 6y N= s A 1430 640 4.0
10 20 44 S+2 +¢K 680 540 14027 3 3NN+1 v9 430 640 4.0|48 65 6Y N= s A 1430 64.0 4.0
11 19 44 S+2 +¢K 680 54.0 14.0|47 66 3NS+1 ¢J 430 64.0 4.0|67 46 6v N= LY 1430 64.0 4.0
21 9 44 S+2  +K 680 540 140| 6 24 3NS= +J 400 55.0 13.0|72 33 6y N= s A 1430 640 4.0
23 7 564 S+1  +K 680 540 140| 8 22 3NN= a2 400 55.0 13.0|61 52 44D O -4 &K 1100 58.0 10.0
27 3 44 N+2 24 680 540 14.0|11 19 3NS= +J 400 55.0 13.0|15 78 44DV -3 vK 800 56.0 12.0
54 59 44 S+2 ¢K 680 540 14.0|35 70 3NS= 5 400 55.0 13.0(14 79 4y N+3 +¢K 710 53.0 15.0
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60 53 44 S+2 ¢K 680 54.0 14.0|60 53 3NS= a5 400 55.0 13.0(23 7 4v N+3 &A 710 53.0 15.0
63 50 44 S+2 ¢K 680 54.0 14074 31 3NN= *4 400 55.0 130 2 28 4v N+2 &A 680 39.0 29.0
67 46 44 S+2 ¢K 680 540 140(10 20 INN+2 &7 150 470 21.0| 4 26 4vy N+2 &A 680 39.0 29.0
72 33 44 S+2 v5 680 54.0 14057 56 INN+2 &5 150 470 21.0| 5 25 4vy N+2 4A 680 39.0 29.0
75 30 44 S+2 ¢K 680 540 140( 2 28 2v N+1 49 140 440 24.0| 8 22 5v N+1 &A 680 39.0 29.0
80 13 44 S+2 ¢K 680 54.0 140 4 26 2 N+2 &5 130 42.0 26.0(16 77 5vy N+1 +v8 680 39.0 29.0
129 44 N+1 3 650 27.0 410| 1 29 2vS= v6 110 29.0 39.0(17 76 5v N+1 &A 680 39.0 29.0
2 28 44 S+1 K 650 27.0 410|115 78 2 N+1 T 110 29.0 39.0(27 3 5v N+1 &A 680 39.0 29.0
4 26 44 N+1 vJ 650 27.0 41016 77 24 N+1 3 110 29.0 39.0(35 70 4y S+2 a2 680 39.0 29.0
525 44 N+1 vJ 650 27.0 410|121 9 3#N= &3 110 29.0 39.0 (47 66 4v N+2 &A 680 39.0 29.0
6 24 44 S+1 K 650 27.0 41051 62 3« N= 49 110 29.0 39.0(57 56 4y N+2 &A 680 39.0 29.0
15 78 44 S+1  ¢K 650 27.0 410(55 58 3# N= ] 110 29.0 39.0(71 34 4v N+2 &A 680 39.0 29.0
17 76 44 S+1  +K 650 27.0 410(64 49 24 N+1 3 110 29.0 39.0(80 13 5v N+1 &3 680 39.0 29.0
47 66 44 N+1 9] 650 27.0 41.0(67 46 2 N+1 #3 110 29.0 39.0(73 32 3NS+2 v6 660 26.0 42.0
48 65 44 S+1 43 650 27.0 410(68 45 2 N+1 vQ 110 29.0 39.0(10 20 4v N+1 &A 650 21.0 470
51 62 44 S+1 #J 650 27.0 410|172 33 3 N= +3 110 29.0 39.0(51 62 4v N+1 &A 650 21.0 47.0
68 45 44 S+1 ¢K 650 27.0 41073 32 2#S+1 &5 110 29.0 39.0({63 50 4v N+1 7 650 21.0 47.0
71 34 44 S+1  ¢K 650 27.0 410(80 13 2v N= a4 110 29.0 39.0(68 45 4v N+1 7 650 21.0 470
73 32 44 S+1 ¢K 650 27.0 410(12 18 2v N-1 42 -50 15.0 53011 19 3NS+1 v2 630 15.0 53.0
74 31 44 S+1  ¢Q 650 27.0 41048 65 4NS-1 46 -50 15.0 53.0|55 58 3NN+1 «4 630 15.0 53.0
55 58 3NS+1 ¢K 630 12.0 56.0|17 76 3NS-2 +J -100 11.0 570 6 24 3NN= 44 600 9.0 59.0
12 18 44 S= 43 620 8.0 60.0|54 59 24 S-2 ¢ -100 11.0 57.0(60 53 3NN= a4 600 9.0 59.0
14 79 44 S= *K 620 8.0 60.0|63 50 3NS-3 v6 -150 7.0 61.0(74 31 3NN= 43 600 9.0 59.0
57 56 44 S= +K 620 8.0 60.0|71 34 4y N-3 49 -150 7.0 61.0(75 30 3NN= 44 600 9.0 59.0
35 70 64 S-1  ¢K -100 3.0 65.0(23 7 3NN-4 &2 -200 4.0 64.0(64 49 3v N+2 &A 200 4.0 64.0
64 49 64 N-1  vJ -100 3.0 65.0(75 30 4vyDN-2 2 -300 2.0 660 1 29 6NS-1 *A -100 1.0 67.0
61 52 64 S-2 ¢+K 2000 0.0 68.0(14 79 3NDN-4 &2 -800 0.0 68.0(54 59 64 S-1 45 -100 1.0 67.0
- 69 38.7| - 69 387 - 69 38.7
40 a- 41 aE7 42 4765
Vast v 1085432 Nord v KDKn2 Ost vKD7
Ingen + D8 (0)Y) + 1076 Alla ¢ EK532
#Kn10865 #Kn1052 #107
«KDKn43 #4E87 4854 # Kn63 «E93 &4 KKn1084
v K6 v EDKn9 v 10854 v9763 vKn42 v1063
¢ Knl092 ¢ EK64 ¢+D54  #Kn3 +8764 ¢D9
*K7 #E3 #KD6 #9873 K95 4832
# 109652 « KD1092 «D2
v7 vE v E985
¢ 753 + EK982 + Knl10
#D942 *E4 #EDKn64
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéang
725 7v V-2 a2 100 68.0 0075 32 74 S= LX:] 1510 68.0 00(65 50 3NS+1 8 630 68.0 0.0
2 30 74 V-1 v5 50 640 40| 7 25 6NS= &5 990 540 140( 1 31 4v S= 9 620 62.0 6.0
11 21 74 V-1 v2 50 64.0 40|12 20 6NN= &9 990 540 140( 7 25 4v N= aT 620 62.0 6.0
62 53 74 V-1 v8 50 640 40(13 19 6NN= &9 990 54.0 14.0(55 60 4v S= +8 620 62.0 6.0
16 78 4NO +2 &5 -490 60.0 8.0(15 79 6NN= &9 990 54.0 14.0(62 53 4v S= s A 620 62.0 6.0
17 77 64 V= &) -980 56.0 12.0(24 8 6NN= v3 990 54.0 14.0|75 32 4v S= +8 620 62.0 6.0
64 51 6 V= ] -980 56.0 12.0|28 4 6NS= *K 990 54.0 14.0(22 10 3NS= +8 600 56.0 12.0
74 33 64 V= *Q -980 56.0 12.0(45 70 6NN= &9 990 540 14.0(56 59 2v S+3 46 200 54.0 14.0
1 31 6NV+1 v5 -1020 38.0 30.0|48 67 6NN= &9 990 540 140(15 79 2v S+2 v2 170 50.0 18.0
3 29 6NV +1 8 -1020 38.0 30.0|52 63 6NN= *T 990 540 14064 51 3v S+1 4A 170 50.0 18.0
9 23 6NO+1 42 -1020 38.0 30.0|55 60 6NS= v4 990 54.0 14.0(73 34 2v S+2 &A 170 50.0 18.0
18 76 6NO+1 ¢3 -1020 38.0 30.0|56 59 6NN = &7 990 540 140(13 19 2v S+l v2 140 46.0 22.0
22 10 6NV +1 #J -1020 38.0 30.0|65 50 6N N= &9 990 540 140(28 4 3#S+1 &3 130 44.0 24.0
24 8 6NO+1 v7 -1020 38.0 30.0|69 46 6NN= &7 990 540 140| 3 29 2v S= v2 110 41.0 27.0
49 66 6NV +1 #J -1020 38.0 30.0|73 34 64 N= v9 980 40.0 28.0(12 20 3#S= 4 A 110 41.0 27.0
52 63 6NO+1 ¢7 -1020 38.0 30.0| 1 31 6¢ S= *Q 920 33.0 35.0(58 57 4v N-1 &3 -100 37.0 31.0
55 60 6NO+1 &2 -1020 38.0 30.0| 5 27 6¢ S= &K 920 33.0 350(74 33 3NN-1 3 -100 37.0 31.0
56 59 6NV +1 3 -1020 38.0 30.0|11 21 6¢ N= &9 920 33.0 350| 2 30 3NS-2 *4 -200 18.0 50.0
58 57 6NO+1 v2 -1020 38.0 30.0|16 78 6¢ S= *K 920 33.0 350 5 27 3NS-2 *2 -200 18.0 50.0
65 50 6NV +1 v3 -1020 38.0 30.0|22 10 6¢ N= &5 920 33.0 350 6 26 6#S-2 A -200 18.0 50.0
68 47 6NO+1 oT -1020 38.0 30.0|62 53 6¢ S= &K 920 33.0 350| 9 23 3NN-2 oT -200 18.0 50.0
69 46 6NO+1 v7 -1020 38.0 30.0|61 54 44 S+3 v5 510 26.0 420(11 21 3NS-2 +8 -200 18.0 50.0
72 35 6NV +1 v4 -1020 38.0 30.0| 6 26 ANN+2 49 490 19.0 49.0|16 78 3NS-2 43 -200 18.0 50.0
61 54 64DV = &3 -1210 22.0 46.0| 9 23 3NN+3 v6 490 19.0 49.0|17 77 3NS-2 *4 -200 18.0 50.0
527 TNO= v4 -1520 11.0 57.0|49 66 3NN+3 v6 490 19.0 49.0|18 76 3NN-2 T -200 18.0 50.0
12 20 7TNO = a2 -1520 11.0 57.0|68 47 3NN+3 49 490 190 49.0|24 8 3NN-2 & -200 18.0 50.0
13 19 7NO= &4 -1520 11.0 57.0|74 33 3NN+3 3 490 19.0 49.0|45 70 3NN-2 &4 -200 18.0 50.0
15 79 7NV = v3 -1520 11.0 57.0|80 14 3NN+3 v3 490 19.0 49.0|48 67 3NS-2 *7 -200 18.0 50.0
28 4 INO= oT -1520 110 57.0| 3 29 54 S+1 &K 480 10.0 58.0|49 66 3NS-2 *4 -200 18.0 50.0
45 70 7INO = v7 -1520 11.0 57.0|64 51 44 S+2 v5 480 10.0 58.0|52 63 3NN-2 &T -200 18.0 50.0
48 67 INO= *4 -1520 11.0 57.0|72 35 44 S+2 &K 480 10.0 58.0|68 47 4y S-2 &A -200 18.0 50.0
73 34 INO= *3 -1520 110 57.0|18 76 54 S= &K 450 6.0 62.0|69 46 3NS-2 LYN -200 18.0 50.0
75 32 INO = +3 -1520 11.0 57.0| 2 30 74 S-1 &7 -50 3.0 65072 35 5#S-2 4A -200 18.0 50.0
80 14 7TNO= *7 -1520 11.0 57.0|17 77 7TNN-1 &9 -50 3.0 65.0|80 14 3NS-2 +8 -200 18.0 50.0
6 26 7#DS-7 &K -1700 0.0 68.058 57 7TNN-3 &2 -150 0.0 68.0(61 54 3NN-3 4 -300 0.0 68.0
- 71 318 - 71 318 - 71 31.8

BK S:t Erik, Trettondagssilver 2016-01-06, sida 9 av 9




